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When reviewing corrections, always check the print number of your book. Corrections are made to printed books with each subsequent printing.
First Printing: December 2007
Corrections for December 17, 2012

FrontMatter, Page ii - 
Reads:

Nineth Printing.

Should read:

Ninth Printing

Chapter 2, Page 140 - 
Reads:

8. Refer to Figure 2-16.  What type of connector is shown in the exhibit?

Should read:

8. Refer to Figure 2-16.  What type of connector is shown on the right side of the cable shown in the exhibit?

Appendix, Page 565 - 
Reads:

8. B.  This is a DTE end of a smart serial cable.  It is a DTE end because the connector is male.
Should read:

8. A.  This is the DTE end of a legacy DB-60 cable.  It is the DTE end because the connector is male.
Corrections for November 11, 2011

Page 403 - Chapter 9 - Second Paragraph
Reads:

Acknowledgement (ACK) packets are sent by EIGRP with reliable delivery is used. RTP uses reliable delivery for EIGRP update, query, and reply packets.  EIGRP acknowledgment packets are always sent as an unreliable unicast. EIGRP acknowledgment packets use unreliable delivery.

Should read:
Acknowledgment (ACK) packets are sent by EIGRP when reliable delivery is used. RTP uses reliable delivery for EIGRP update, query, and reply packets. The router receiving an update, query, or reply packet must send back an acknowledgement. However, EIGRP acknowledgment packets are always sent as an unreliable unicast. EIGRP Acknowledgment and Hello packets use unreliable delivery.
Corrections for October 14, 2010
CD Problems:
CD does not open:


The replacement .pka file for the CD has been uploaded onto the website.

Print book errata:

Page 6 – Last two sentences in second paragraph – R2 should be R1– “R1 found the static route 192.168.3.0/24, which can be reached out its Serial0/0/0 interface. R1 will encapsulate the packet in a frame format appropriate for the outbound interface and then forward the packet.”

Page 14 – 1st paragraph – For clarity, include at the end of the first paragraph the sentence, “However, you can practice using setup mode in the Packet Tracer Activity “Using Setup Mode (1.1.4)” later in the chapter.”
Page 68 – Table 2-1, Column Device R3, Under Column Interface, Second line:


Reads:  S0/0/0


Should read: S0/0/1
Page 69 –Figure 2-2 – The cabling for the straight-through and cross-over cables are incorrect in the diagram. Replace Figure 2-2 with:
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Pages 29-34 – Examples 1-2, 1-3, 1-4, 1-5, 1-6, and 1-7 – Outputs should show Serial0/0 as Serial0/0/0 and Serial 0/1 as Serial0/0/1.

Page 88 – Example 2-16 – Output should state only 1 subnet. 

172.16.0.0/24 is subnetted, 1 subnets

Page 114 – Example 2-33 – Output should include the removal of the static route for the 192.168.2.0/24 network.:

RT: del 192.168.2.0 via 172.16.2.2, static metric [1/0]

RT: delete network route to 192.168.2.0
Page 173 – Second paragraph – Example 3-8 is showing an example of a static route with an exit-interface, not a directly connected network. The sentence should state, “To see the AD value of a static route configured with an exit-interface, use the [route] option, as shown in Example 3-8.”

Page 173 – Example 3-8 – Example 3-8 is showing an example of a static route with an exit-interface, not a directly connected network. The heading should read, “AD Value shown for Static Route Configured with an Exit-Interface”

Page 225 – 4th paragraph – For clarity, replace RIP with RIPv1. “RIPv1 is a classful routing protocol.”

Page 248 – 5th paragraph – The last sentence mistakenly says that both routers, R1 and R3 will send a summary route to R3. It should state that both R1 and R3 will send a summary route to R2. The last sentence should read, “Both routers, however, will advertise the 172.30.0.0 major network address, a summary route to R2.”

Page 249 – Example 5-15 – Remove the route in R1’s routing table:

R 172.30.0.0 [120/2] via 209.165.200.230, 00:00:26, Serial0/0/0

Page 249-250 – Example 5-17 – Remove the route in R3’s routing table:

R 172.30.0.0 [120/2] via 209.165.200.233, 00:00:22, Serial0/0/1

Page 267 – Table 6-2 – The second row shows the number of possible networks for a Class B address as 16,344. The correct number of possible networks for a Class B address is 16,384.

Page 274 – Figure 6-8 – Replace the lower right-hand switch connected to 10.4.64.0/20 subnet with a router.

Page 295 – 2nd paragraph – R1 does not contain any VLSM networks, only R3. The first sentence should state, “Looking at the chapter topology and Figure 7-3, notice that the R3 contains VLSM networks.”

Page 299 – Example 7-6 –Note: “The results in Example 7-6 may differ from your own output, depending on the status of IP CEF on the router.  With some routers you will need to disable IP CEF to see the results shown. In any case, communications from R2 to any of the 172.30.0.0 subnets will be inconsistent.”

Page 312 – 2nd paragraph, below Example 7-19. The “no version” and “version 1” commands will produce slightly different results. When running rip version 2, the command "no version" will produce the default version control: send version 1, receive any version. When running rip version 2, the command "version 1" will produce the default version control: send version 1, receive version 1.

Page 345 – Figure 8-4 – The parent route, the first line of the output, is indented too many spaces to the right.

      172.16.0.0/24 is subnetted, 1 subnets

C        172.16.3.0 is directly connected, FastEthernet0/0

Page 407 – First paragraph, second sentence should read, “In this case, the reply would state that the router does not have a route to this network.”

Page 434 – 3rd paragraph – The first sentence should ask whether R1 can be an FS (Feasible Successor) not an FC (Feasible Condition). This sentence should read, “If R3 is the successor, can the neighbor R1 be an FS to this same 192.161.0/24 network?

Page 518 – Example 11-8 – Priority values on all three routers, for all neighbors should be 0, not 1. 

Page 575 – Question 10 – The answer should be “B”, not “A”.  The explanation given for this answer is still correct.
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